The DERIVATIVE OF 
$$\arctan(x)$$
 -value KAMEL  
GOAL: Compute  $\frac{d}{dx} \arctan(x)$  [=  $\arctan(x)$ ].  
() "Trick" Set up a simple equation involving  $\arctan(x)$ ].  
(2) "Trick" Set up a simple equation involving  $\arctan(x) \rightarrow \tan(\arctan x) = x$ .  
(2) Diffuentiate both sides of the equation.  
 $\arctan(x) = \pm \tan nuese function of  $\tan(x) \rightarrow \tan(\arctan x) = x$ .  
(2) Diffuentiate both sides of the equation.  
 $\frac{d}{dx} [\tan(\arctan x)] = \frac{d}{dx} x$   
 $\sec^{2}(\arctan x)$  arctan(x)] =  $\frac{d}{dx} x$   
 $\sec^{2}(\arctan x)$  arctan(x) = 1 and  $\arctan(x) = \cos^{2}(\arctan x)$   
 $\int need a better expression for " $\cos^{2}(\arctan x)$ "...  
(3) Draw a triangle to reinterpret trig expressions.  
 $\sin \theta = \frac{1}{\cos \theta} = right triangle w/ hypotowse = 1 & a angle G.$   
 $\sin \theta = \frac{1}{\cos \theta} = right triangle w/ hypotowse = 1 & a angle G.$   
Since  $\arctan(\tan \theta = \frac{\sin \theta}{\cos \theta}) \rightarrow \Theta = \arctan(\frac{\sin \theta}{\cos \theta})$   
 $\Rightarrow \cos \theta = \cos(\arctan(\tan \theta) + \frac{\sin \theta}{\cos \theta}) \rightarrow Since we want \cos^{2}(\arctan x) ...$   
(4) Convert expressions back in terms of "x".  
 $x = \frac{\sin \theta}{\cos \theta} \Rightarrow x^{2} = \frac{\sin^{2} \theta}{\cos^{2} \theta} \Rightarrow \cos^{2} \theta = \frac{\sin^{2} \theta}{x^{2}} = \frac{1 - \cos^{2} \theta}{x^{2}} = \frac{1 - \cos^$$$